EiREREH#RSs 108278 (£) MITEELHERS
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2Kl A AC $% (BLR) |BHC#H
N 2 11”7 14 (+3.2)
= FCIL 2 117 31 (+2.5)
A EAER 2 11”7 38 (+3.2)
1IE RSTEAER 2 11”7 46 (+4.1)
N 2 11”7 56 (+4.1)
[HITEPN 2 11”7 62 (+5.4)
FEES 1 11" 65 (+5.4)
100m BEA SR 1 11”7 70 (+3.1)
A E R 2 11" 71 (+4.1)
=0 £ 2 117 71 (+5.4)
BHISE 2 11" 79 (+2.8)
BT 2 11”7 84 (+5.4)
BANH 2 12”7 08 (+4.1)
BB e 1 12”7 16 (+1.6)
BlEEIEA 1 DNS
SR EGIE 2 DQ
= BCIL 2 23" 15 (+2.0)
NEEE 2 23" 21 (+4.1)
1F RSEAER 2 23" 24 (+6.9)
200m L8 [ 1 23" 63 (+4.1)
N 2 23" 69 (+4.2)
W AE 1 23" 72 (+4.2)
AR R 1 24" 07 (+4.2)
110mH Z {HAk 1 DNF
PR, KX, ME, & 44" 53

4x100mR 2. BE. EE BE 45" 26

B =g EAR. [ 45" 17

BAR, BH. MK =& 47" 22

E Sk ZITEDN 2 1m95b
EEEBR 2 Tm90
EEEEN i Tm80
Eo Bk AT B K BB 2 DNS
2Bk Eiﬁﬁj{[@ 1 6m48 (+2.0)
o ZEA— 2 10m84
A& s 3F 1 9m9?
N~ B2k 2 45m18
BB 2 36m96
aefiesy ZBEA— D 25m76
e 3L 1 23m69
RIBEH 1 13" 26 (+1.8)
BHEER 1 13” 55 (+1.8)
B 1 13”7 55 (+1.3)
AT 1 13" 57 (+1.3)
100m WHER 2 137 65 (+1.8)
BT i 137 71 (+1.8)
AEES 1 137 79 (+1.8)
B4 2 13”7 92 (+1.8)
= (@A 1 147 20 (+1.8)
InATE 1 27" 73 (+4.7)
e 1 277 99 (+5.0)
200m I\ 3 2 | 28710 (+4D)
KEIFS A 2 29”7 20 (+4.7)
ETES 2 DNS
RIFwpY 2 DNS
ET. mA. mE. s 51”7 96
4x100mR [NHE. mH. . =H 52”7 50
EhE. KBl RB. A 54”7 15
E Sk FEEx 1 1m50
=k ZHEXE 2 3m40 %
5 RIEER i 3m00
=Bk ERERZ 2 T0m12 (+43) |[AmEL
& f%g% 1 35m49 *
. - NEEE D 28m13
NR R NEfEEE 1 22m30




